
Problem Solving
 Read each story problem and solve.

2 horses are gray.
1 horse is brown.
How many horses in all?
                       
                       horses

There were 4 pigs.
2 pigs went into the pen.
How many pigs are left?

                        pigs

2 cows are outside.
4 cows are in the barn.
How many cow are in all?

                       cows

There are 6 chickens.
4 chickens went into the barn.
How many chickens are left?
                       
                       chickens
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